2°N1 17"7 '0I0 R,2 YR L7"'02

And there it is written; — S1%n AP AT N0 SN ant 23N
‘I have given the money for the field, take it from me’

OVERVIEW

The X713 explains that the 71wn states N°1p1 because of 702 11p. The XA
initially states that 703 *17°p 1s derived through the ar°p AP w"1. The term
AR 1s used by wNTP as it is written lwx wix np? °2. The same term 7P 18
found by 1179y 77w where the 2109 reads” *1n np A7Wa 703 *nnl. This w'"n
teaches that an WX is nWTPn with 702, The X773 concludes that since 1m°p
(which is the source of the w"t) is referred to as 11p, therefore the 71wn uses
the term 732. Our NBOIN will first analyze the efficacy of the 7P AP WA
(since they are not similar in context). N1501n will then explain why we do
not stop at the w"73 but insist on continuing to 1°Ip X 7m°p.

mooIn resolves an anticipated difficulty:
— NNP PYY REMY NIN YWIN ION
The only concern in establishing this w" is to find the expression 7m1op,
both by 1179y 7% and AWK *W17°p. And -
— M7 NDT ) Y 9N
Even though the respective terms of 7’ are not similar in context -
— 11 YV GDANR NP XINT NNYPY
For the term % by 11179Y 772 refers to the money for the field; not for the
acquired item (the field) -
— “nn8y NYNRN NIN DYNR JY GDIN NP XY AUNT NP
However the term 112 by 7@K *17p is not referring to the money which
the woman receives, but rather it refers to the woman herself. This
discrepancy does not concern us when making a w"1; as long as we find two similar
words it is a proper "3 (regardless of their context).

In summation: Mo concern was how fM°p AM°P can be a proper ¥'"i, when one 7P
refers to the money and the other refers to the acquired object. mpoIN answers that

concerning a ¥"73 the context of the words are irrelevant as long as the words are similar.

mooIn asks:’

''X,75 (X¥n) o™a7.

23,30 (77w M) PRI,

* The 109 reads *3n Ap 77w 703 *nNI; the word np means take the money (not the field)

* The 2109 reads WX WK 1P °3; the word 1> means he acquires the woman (not the money).
> See ‘Thinking it over’ # 1.
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—* D5 99 250947 590 KYDT NIYSY NYAIYW NNDI AYUNRN 23N 1INN ON)
And if you will say; and the mw» should read, ‘the woman is taken’,
since the word nrp1 is more in accordance with the words of the pios,
which reads nps %2 (if he will take).

moon will show that the term nrp1 is appropriate for a mawn:’
— UYN 9093 NPI YN (35597 122995 ) )3

For we also learnt in a 712% in 1°2y9% ndon; ‘Everything may be bought
with the money of *1w Wwn’; the mwn uses the term mp1.

mMooIn continues and explains that if the term NP1 would be used it would not be °n7n °1n
SR ToX:
—IMNNX NX NP> YUNR YIN (5 xap) 39NIT NP IYD ) T2PY NN

For the term 71173 applies to 18°3 "1 as well, as it is written and if a man

takes his sister (which means he was 9v12 her). Therefore the term nnpi is applicable
to (at least) two of the 2 11p. It is not X717 WK °n7n °1n. The question remains; why not
write 'nnpI TWRT.

N1B0IN answers:
:1°999494 /23 NPYY NNPIYI XY 23NNY 7Y N9T 1Y Y

And one can say; that if the Xv"7 would state nrp1 7wKT it would not be

possible to state in the X290, ‘and she takes herself in two ways’. The
woman does not ‘take herself” when her husband divorces her (or when he dies). On the
contrary, the husband sends her alwaly.11 The miwn prefers to use the same expression
which is appropriate both in the X7 (when the woman is nwTPn) and in the X5°0 (when
she is n7Mn). Therefore the 71wn uses 117 instead of 7mp.

SUMMARY
The context of the words in a w"tx do not have to coincide. There is no
complementary term for NPl when a woman is released from her marriage.

® The basis for stating 11p in the 71wn is the NMOY 77wWn AR AP W' (see previous 21wn 7"7 nvoN). Why is
there a need to say that 1°1p *p°R 7P (and therefore write n°1p1), let us stop at the w'"t. The w"m is amp
7mp; therefore the mawn should state an expression of 1i°p which is nrp1 AWKR.

7 Others interpret this proof differently (see [T18:] "W).

¥ See previous Dwn 7"7 Moo (footnote # 2 & 3).

? 1> P09 (2w17p). The 0°p100 there are discussing illicit relationships. See “Thinking it over’ # 2.

10 See previous *&n 1"7 MvoIN (footnote # 2).

" However the 17" of %y NX AnP is appropriate, for 77 can mean owning (she owns herself) which is a
passive term, however nn17 is an active term and by 7217° and ¥271 nn°n she is not actively taking herself
out of the marriage. See 112 MR 7"210 and v> MK "22. Others explain this answer of NP 121 1% W K27
121 Y differently (see 1"1R).
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THINKING IT OVER
1. Is there any connection between the beginning of n1©01N and the question
concerning nnp3,'> which follows?

2. mBoIN proves from INIAR DX 7P° WX XY that A% [1Ip] 1s referred to as
amp. 12 Seemingly however the 1 in that 705 is not referring to 1°3p at all,
for there is no 70910 W17°P by N17y. How can we derive from there that 7°1p
82 is mp P21

12 See footnote # 5.
13 See footnote # 9.
4 See a"nx footnote # 453.
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